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Determining pH & pOH

Honors Chemistry

1. Find the Hydrogen Ion Concentration for the following and then determine the pH and pOH.

a. 1.0x 107 M acid, 10.0% ionized
H*= Lo xw®

PH= 6 POH—‘- 3

b. 1.0 x 10° M acid, 100% ionized
-5
H+ = Lo x 10

ph= 5  pOk= 9
c. 0.050 M acid, 5.0% ionized
Kt = A5 x10™>

o= 24  eO= 1Y
d. 3.0 M acid, 100% ionized

Bt = 3.0
p“: O PD““"'

e. 3.0x 10 M acid, 4.0% ionized
Ht= 1.2 x 1074

PH= 3.9 pOH= 10. (
f. 2.5 M acid, 100% ionized
Ht= 2.5

PH =0 POH = 4
g. 4.0x10” Macid, 8.3% ionized
H1= 3,22x 1o~

pit= 3.5 p0H= [0.5
h. 3.5x 107 M acid, 1.5% ionized
gt a F28 R 10”7

pt= 3.3 poOH= 0.7

2. Find the Hydroxide Ion Concentration for the following and then determine the pH and pOH.

a. 1.0 x 10> M base, 100% ionized
OH=z= o X100~

pot=3  ph= ||
b. 2.5x 10 M base, 2.50% ionized
ok~ = £&.3x1071

pOR= 5.3 PH: 10.9
c. 3.5x 107 M base, 3.0% ionized
On~= 1.05 x 10”1

poli= 4.0 pH=10
d. 2.5x 10?2 M base, 2.5% ionized
ow- = £.a5x 10 -

pok=3.2 ph=10.9

e. 4.0x 107 M base, 2.0% ionized
Ok~ = § x107%

£ 3.2x 10 M base, 100% ionized
OHa 3.2 xto~*®

POH: 55 Ioﬁl: 8,5
g. 4.5x10”° Mbase, 10.0% ionized
O™ = 4U5x 0%
pon= 5.% pht= 3.7
h. 5.8 M base, 8.0% ionized
OH~ = .4bM

POH=.3 Pn=/37



pH and pOH calculations

Honors Chemistry

Hydrogen-Ion

Hydroxide-Ion

Concentration Concentration pH pOH
a. 2.5x 107 .0 MQ'(’ 3.b 5.4
o | fox™ | LoxiT" 2.0 120
o | Jozx 10 9.8 x 107" 4.0 /0.0
d. 1.0x 107 L0 x 10 " 7.0 7.0
c 15x10° Lb7x10'C 2.9 Ha
£ 1.0x 107 10 x10 5.0 7.0
e | &0 “0-5’ 2.2x 107 7.3 3.7
bl 5 x o 40 x10" 4.4 >4
T T 5.9 x 107 12.77 M
B 2w 10 | 3.98x 07" s 17
< | asq0™ | 398k 1.6 L4
L 44x107 25x w0 9.4 5.6
m | 2.0y o | 5.0x o 127 .3
n 1.0x 107 1.0 x zo’” 3.0 /.0




